Manuals+ — User Manuals Simplified.

KINGSMITH LKC-1 Leg
Extension Curl Machine

KINGSMITH LKC-1 Leg Extension Curl Machine User Manual

Home » KingSmith » KINGSMITH LKC-1 Leg Extension Curl Machine User Manual ™=

Contents
1 KINGSMITH LKC-1 Leg Extension Curl
Machine
2 Product Usage Instructions
3 PREPARATION
4 Component Overview
5 Hardware Details
6 Documents / Resources
6.1 References
7 Related Posts

KINGSMITH LKC-1 Leg Extension Curl Machine


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/kingsmith
https://manuals.plus/kingsmith/lkc-1-leg-extension-curl-machine-manual.pdf
https://manuals.plus/#kingsmith_lkc-1_leg_extension_curl_machine
https://manuals.plus/#product_usage_instructions
https://manuals.plus/#preparation
https://manuals.plus/#component_overview
https://manuals.plus/#hardware_details
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

Product Specifications

« Model: LKC-1
« Assembly Type: Leg Extension/Curl Machine
« Tools Required: Electric Screwdriver, Hex Key Set, Wrench Set, Adjustable Wrench, Rubber Mallet, Lubricant

Product Usage Instructions

Preparation
Before starting the assembly process, ensure you have all the necessary tools mentioned above. Follow the
important tips provided in the manual for a smooth assembly experience.

Step-by-Step Assembly

Step 1: Main Frame Assembly
Assemble the Right Main Frame, Left Base Support Frame, Front Base Support Frame, and handles using the
provided hardware (M10 washers, nuts, screws).

Step 2: Rotational Arm Support Assembly
Attach the Rotational Arm Support using M10 washers, nuts, and screws as specified.

Step 3: Connector Tube Assembly
Connect the Connector Tube using the provided M10 washers, nuts, and screws.

Frequently Asked Questions (FAQ)

« Q: What should | do if | encounter missing parts during assembly?
A: If you find any missing parts, please contact us immediately at support@kingsmithstrength.com for
assistance in obtaining thenecessary components.

« Q: How often should | check for loose screws and bolts after assembly?

A: It is recommended to periodically check for loose hardware, especially after initial use, and tighten them if


mailto:support@kingsmithstrength.com

needed to ensure safety and stability.

PREPARATION

Tools for Assembly

Electric Screwdriver

« Hex Key (Allen Wrench) Set

« Wrench Set and Adjustable Wrench
« Rubber Mallet

« Lubricant (for smooth assembly)

Important Tips:

Hand-tighten bolts and nuts during assembly. This ensures that the structure can be adjusted as needed. Once
the entire unit is assembled, tighten all hardware securely.

Periodically check for loose screws and bolts, especially after initial use. Tighten them if necessary to ensure

safety and stability.

(¥ Right Main Frame 1 pc (2 Rotational Arm Support 1 pc @3 Cushion Bracket Frame 1 pc (@ Backrest Frame 1 pc

Component Overview

e
£

(8 Leg Roller Frame 1 pc (&) Connector Tube 1 pe (@ Left Base Support Frame 1 pc & Front Base Support Frame 1 pc
(® Right Small Handle 1 pc (0 Left Small Handle 1 pc () Right Large Handle 1 pc (@ Left Large Handle 1 pc
/o)
g:/
(13 Foam Roller I pc (14 Backrest 1 pc (8 Cushion 1 pc (1 Roller Frame Cover 1 pc

(=]

Hardware Details



@&/ ~
(A) M8 Washer 7 pes (B M 10 Washer 28 pes (© M10 Nut 16 pes (© M8x30 External

Hexagon Screw 3 pcs

< ¢

(E) M8x50 External (F) M8x80 External @ M10x20 Hexagon Socket H M10x25 Hexagon Socket
Hexagon Screw 2 pes Hexagon Screw 2 pes Countersunk Head Screw Ipc Countersunk Head Screw 1pc

i

-~ i

() M10x70 External Hexagon (K) M10x65 Round Head (© M 10x75 External
Screw 8 pes Square Neck Screw 4 pes Hexagon Screw 4 pcs

Step 1 Main Frame Assembly

Item No. Name Qty Item No. Name Qty
M10 Washer 16 Right Main Frame 1
M10 Nut 8 Left Base Support Frame 1
M10x70 External Hexagon Screw 4 Front Base Support Frame 1
M10x75 External Hexagon Screw 4 Right Small Handle 1
Left Small Handle 1
Right Large Handle 1
Left Large Handle 1




®0

Step 2 Rotational Arm Support Assembly

Item No. Name Qty
® M10 Washer 4
© MI10 Nut 4
® M10x65 Round Head Square Neck Screw 4
@ Rotational Arm Support 1

\
®®

Step 3 Connector Tube Assembly



Item No. Name Qty
® M10 Washer 8
© M10 Nut 4
® M10x70 External Hexagon Screw 4
® Connector Tube 1

Step 4 Leg Roller Frame Assembly

Item No.

Name

Qty

®

Leg Roller Frame

Step 5 Foam Roller Assembly




Item No. Name Qty
© M10x20 Hexagon Socket Countersunk Head Screw 1
(G) M10x25 Hexagon Socket Countersunk Head Screw |
13 Foam Roller |
i Roller Frame Cover 1

Step 6 Cushion Bracket Frame Assembly

Item No.

Name

Qty

®

Cushion Bracket Frame

Step 7 Cushion Assembl




Item No. Name Qty
® M8 Washer -+
o M8x30 External Hexagon Screw 2
® M8x50 External Hexagon Screw 2
(D] Cushion 1

Step 8 Backrest Assembly

Item No. Name Qty
® M8 Washer 3
© M38x30 External Hexagon Screw |
® MB8x80 External Hexagon Screw 2
@ Backrest Frame 1
14 Backrest 1




Step 9 Backrest Assembly

Item No.

Name

Qty

@

Backrest Frame

(4

Backrest

Contact Us

For any questions or assistance with the assembly of this product, please feel free to contact us.

Email: support@kingsmithstrength.com

We are committed to providing you with the support you need and ensuring your satisfaction!

Documents / Resources



mailto:support@kingsmithstrength.com

i KINGSMITH LKC-1 Leg Extension Curl Machine [pdf] User Manual
fﬁ LKC-1, LKC-1 Leg Extension Curl Machine, LKC-1, Leg Extension Curl Machine, Curl Machine,
Machine

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/53d386b7d54470befa198faf94809b2b329f17a58e0c20e33284f0e92f4c2894
https://manuals.plus/m/53d386b7d54470befa198faf94809b2b329f17a58e0c20e33284f0e92f4c2894_optim.pdf
https://manual.tools/?p=15206997#MTA0LjI4LjIwMi4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	KINGSMITH LKC-1 Leg Extension Curl Machine User Manual
	KINGSMITH LKC-1 Leg Extension Curl Machine
	Product Usage Instructions
	PREPARATION
	Component Overview
	Hardware Details
	Documents / Resources
	References



